10.

o
Explanation:
0

(©) (a,b)

Explanation:
(a,b)

(a) 2a
Explanation:
2a

(C)X2+y2-x—y=O
Explanation:

X2+y2-x—y=0

(d) 0.6
Explanation:
0.6

(b)2
Explanation:
2

(d) 225
Explanation:
225

(©) ¥y + 4P + 4P3 + 4Py
Explanation:

4P1 + 4P2 + 4P3 + 4P4

(c) f is neither one-one nor onto
Explanation:
f is neither one-one nor onto

(d)2
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Explanation:
2

(@-1
Explanation:
-1

(@~ (p—q) < pA~g
Explanation:
~(p—q < pA~g

(d) A # -17
Explanation:
AF#£ 17

@A™
Explanation:

A—l

@ (—5:3)

Explanation:

(=3:3)

(a) 2n7r - %
Explanation:

s
2nm - 1

©Z

Explanation:
s

6

(d)2
Explanation:
2

2
@) 5
Explanation:

71,2

2ab
(do

Explanation:
0

)25
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22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

Explanation:
2
=

@ —

Explanation:
iy
1—a?

(b)2,-3
Explanation:
2,-3

(d) Two
Explanation:
Two

@0
Explanation:
0

(c) equally inclined to axes

Explanation:

equally inclined to axes

(a) 0
Explanation:

0

(a) line is parallel to the plane

Explanation:

line is parallel to the plane

)3

Explanation:

V3

() (0,4
Explanation:
0,4

@1
Explanation:
1

d
(d)ed)logf{%-d—i—i-logf-

Explanation:

d¢

dx

)
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

glogf[ o df s
e®log {f - +log f- —

@D (-1

Explanation:

D" (n-1)!

(b)6
Explanation:
6

(a) 36 m?
Explanation:

36 m?

(c) strictly increasing
Explanation:
strictly increasing

(b) meets the curve again in the fourth quadrant

Explanation:

meets the curve again in the fourth quadrant

(a) tan (eX) - e* + C
Explanation:

tan (e*) - e* + ¢

3
©3(1+2?)2 +c
Explanation:

3
%(14‘&32)5 +c

1
@A=—5
Explanation:
A=_—1

2

(0) % (xcostx - /1 — x2) + ¢

Explanation:

1 -1 2
E(XCOS Xx-4/1—z%)+cC

(b) <%’r — %) sqg. unit

Explanation:

5T 1 .
( 1 2) sg. unit
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43.

44,

45.

46.

47.

48.

49.

50.

(d)ye%—i—x:c

Explanation:

yev +x=c

d? d
@’ +a-+y=0

Explanation:
d2y

x2—+xd—y—|—y=0
dz

dx2

(93
Explanation:
3

7
Explanation:
7

2
© 3
Explanation:
2

5

@ 3,/2

Explanation:
1 /5

3 2

15
D %
Explanation:

15
16

193
Cliry
Explanation:
193
29
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